C:h Rewriting Expressions Name:

Rewrite each expression in itssimplest form. Answers
D (N +9)- (TN +9) .
2.
D (X -13) - (VpeX + 16) 3
.
Y (%0-9)- (V20-3) ;
6.
K -(1/6V+6)+(5/6V+7) 7.
8.
¥ (Yp-18)+(Y,D+18) o
10.
6)

(7T-14) - (/T +11)

D (Fw-17)- (Ve - 19)

¥ (Fp+20)-(Yp-10)

¥ (Vz-18)+(Yz +11)

O (Yc-3)+ (YaC +17)
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ﬂh Rewriting Expressions Name:. Answer Key

Rewrite each expression in itssimplest form. Answers
Y (Tnr0)- (TN o) L a0
YN +9-"7,N -9 L /eX-29
D (Yox -13)- (VX +16) 2 /uQ6
oeX - 13- ToeX - 16 VAVZE]
Y (0-9)- (Ya-3) s /D0
12/24Q -9- 4/24Q +3 6 '6/5T+3
NG AVIN SN AV 3 -/ gW+36
YN -6+ T 47 . /P10
) N 2/4D -18) +( 1/4D +18) 3 '2/162'7
-2/4D +18 + 1/4D +18 0 -20/36C+14
¥ (Yer-18y- (YT +11)
YT +14-7T-11
D (T -17) - (YW - 19)
oW 17 - /W + 19
¥ (Fpr20y-(Vp-10)
Yp-20-7P+10
¥ (Vz-18)+(Yz +11)
ez +18+ Y7 + 11
O (Yc-3)+ (YaC +17)
2 C+ 3+ Vo C+ 17
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